

MODIFIED DEGENERATE DAEHEE NUMBERS AND POLYNOMIALS ARISING FROM DIFFERENTIAL EQUATIONS

DONGKYU LIM

ABSTRACT. In the paper, the author considers differential equations arising from modified degenerate Daehee numbers and polynomials. Along the idea of Kwon *et al.*, we derive some explicit identities for the modified degenerate Daehee numbers and polynomials which are derived from differential equations.

1. INTRODUCTION

It is common knowledge that the Bernoulli polynomials $B_n(x)$ for $n \geq 0$ can be generated by

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}. \quad (1)$$

When $x = 0$, $B_n = B_n(0)$ are called Bernoulli numbers, (see [1-21]).

L. Carlitz considered the degenerate Bernoulli numbers which are given by the generating function to be

$$\frac{t}{(1 + \lambda t)^{\frac{1}{\lambda}} - 1} = \sum_{n=0}^{\infty} \beta_{n,\lambda} \frac{t^n}{n!}, \quad (2)$$

(see [1, 2, 16, 18]).

Recently, Dolgy *et al.* studied the modified degenerate Bernoulli numbers, which are slightly different from Carlitz's degenerate Bernoulli numbers. These are defined by the generating function to be

$$\frac{t}{(1 + \lambda)^{\frac{1}{\lambda}} - 1} = \sum_{n=0}^{\infty} \tilde{\beta}_{n,\lambda} \frac{t^n}{n!}, \quad (3)$$

(see [3]).

Kim considered the Daehee polynomials $D_n(x)$ for $n \geq 0$ which are defined by the generating function to be

$$\frac{\log(1+t)}{t} (1+t)^x = \sum_{n=0}^{\infty} D_n(x) \frac{t^n}{n!}. \quad (4)$$

When $x = 0$, $D_n = D_n(0)$ are called Daehee numbers, (see [5]). There have been many works related to Daehee numbers and polynomials, (see [4, 6, 12, 19, 20, 21]).

1991 *Mathematics Subject Classification.* Primary 05A19, 11B83, 34A34 .

Key words and phrases. Modified degenerate Daehee number, Modified degenerate Daehee polynomial, differential equation.

As a degenerate version of Daehee numbers D_n , the degenerate Daehee numbers $D_{n,\lambda}$ are defined by Kim and Kim

$$\frac{\lambda \log \left(1 + \frac{1}{\lambda} \log(1 + \lambda t)\right)}{\log(1 + \lambda t)} = \sum_{n=0}^{\infty} D_{n,\lambda}(x) \frac{t^n}{n!}. \tag{5}$$

Note that $D_{n,\lambda} \rightarrow D_n$ as $\lambda \rightarrow 0$, (see [11]).

Motivated from the concept of modified Bernoulli and Euler number (see [13, 3]), we introduce the modified degenerate Daehee numbers $\mathfrak{D}_{n,\lambda}$, which are defined by the generating function to be

$$\frac{\lambda \log \left(1 + \frac{t}{\lambda} \log(1 + \lambda)\right)}{t \log(1 + \lambda)} = \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda} \frac{t^n}{n!}. \tag{6}$$

Note that $\mathfrak{D}_{n,\lambda} \rightarrow D_n$ as $\lambda \rightarrow 0$.

And for $r \in \mathbb{N}$, the higher-order modified degenerate Daehee numbers are defined by the generating function to be

$$\left(\frac{\lambda \log \left(1 + \frac{t}{\lambda} \log(1 + \lambda)\right)}{t \log(1 + \lambda)}\right)^r = \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda}^{(r)} \frac{t^n}{n!}. \tag{7}$$

We note that many authors have studied some properties on modified degenerate numbers and polynomials, (see [3, 13, 14, 15]).

In combinatorics, the following are well known for the Stirling numbers of the first kind $S_1(n, l)$ for $n \geq 0$ are defined by

$$\begin{aligned} (x)_n &= x(x-1) \cdots (x-n+1) = \prod_{l=0}^{n-1} (x-l) \\ &= \sum_{l=0}^n S_1(n, l) x^l \end{aligned} \tag{8}$$

and the Stirling numbers of the second kind $S_2(n, l)$ for $n \geq 0$ are given by

$$x^n = \sum_{l=0}^{\infty} S_2(n, l) (x)_l \tag{9}$$

From (8) and (9), the Stirling numbers may be generated by

$$\frac{(\log(1+t))^n}{n!} = \sum_{l=n}^{\infty} S_1(l, n) \frac{t^l}{l!}$$

and

$$\frac{(e^t - 1)^n}{n!} = \sum_{l=n}^{\infty} S_2(l, n) \frac{t^l}{l!},$$

respectively (see [5, 6, 7, 8, 9, 10, 11, 12]).

In this paper, we study differential equations arising from modified degenerate Daehee numbers and polynomials. Along the idea of Kwon *et al.* in [12], we derive some identities for the modified degenerate Daehee numbers and polynomials which are derived from differential equations. We note that there has been much works on special numbers and polynomials related to certain differential equations, (see [8, 9, 10, 12, 17]).

2. DIFFERENTIAL EQUATIONS ARISING FROM THE GENERATING FUNCTION OF MODIFIED DAEHEE NUMBERS

Let

$$\mathcal{F} = \mathcal{F}(t) = \log \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right). \tag{10}$$

By taking the derivative with respect to t of (10), we can derive

$$\begin{aligned} \mathcal{F}^{(1)} &= \frac{d}{dt} \mathcal{F}(t) = \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right)^{-1} \frac{\log(1 + \lambda)}{\lambda} \\ &= \frac{\log(1 + \lambda)}{\lambda} e^{-\log(1 + \frac{t}{\lambda} \log(1 + \lambda))} \\ &= \frac{\log(1 + \lambda)}{\lambda} e^{-\mathcal{F}} \end{aligned} \tag{11}$$

and

$$\mathcal{F}^{(2)} = \frac{d}{dt} \mathcal{F}^{(1)} = -\frac{\log(1 + \lambda)}{\lambda} e^{-\mathcal{F}} \mathcal{F}^{(1)} = -\left(\frac{\log(1 + \lambda)}{\lambda} \right)^2 e^{-2\mathcal{F}}. \tag{12}$$

Similarly, we get

$$\mathcal{F}^{(3)} = \frac{d}{dt} \mathcal{F}^{(2)} = 2 \left(\frac{\log(1 + \lambda)}{\lambda} \right)^2 e^{-2\mathcal{F}} \mathcal{F}^{(1)} = 2 \left(\frac{\log(1 + \lambda)}{\lambda} \right)^3 e^{-3\mathcal{F}}. \tag{13}$$

Continuing this process, we are led to put

$$\mathcal{F}^{(N)} = \frac{d^N}{dt^N} \mathcal{F}(t) = (-1)^{N-1} (N - 1)! \left(\frac{\log(1 + \lambda)}{\lambda} \right)^N e^{-N\mathcal{F}}, \tag{14}$$

where $N = 0, 1, 2, \dots$.

In addition,

$$\begin{aligned} e^{-N\mathcal{F}} &= \sum_{n=0}^{\infty} (-1)^n N^n \frac{\mathcal{F}^n}{n!} \\ &= \sum_{n=0}^{\infty} (-1)^n N^n \frac{[\log \{ 1 + \frac{t}{\lambda} \log(1 + \lambda) \}]^n}{n!} \\ &= \sum_{n=0}^{\infty} (-1)^n N^n \sum_{m=n}^{\infty} S_1(m, n) \frac{t^m}{m!} \left(\frac{\log(1 + \lambda)}{\lambda} \right)^m \\ &= \sum_{m=0}^{\infty} \left[\sum_{n=0}^m (-1)^n N^n S_1(m, n) \left(\frac{\log(1 + \lambda)}{\lambda} \right)^m \right] \frac{t^m}{m!}. \end{aligned} \tag{15}$$

Applying (15) to (14), we have

$$\mathcal{F}^{(N)} = (-1)^{N-1} (N - 1)! \sum_{m=0}^{\infty} \left[\sum_{n=0}^m (-1)^n N^n S_1(m, n) \left(\frac{\log(1 + \lambda)}{\lambda} \right)^{N+m} \right] \frac{t^m}{m!}. \tag{16}$$

Also, we can present $\mathcal{F}^{(N)}$ by using generating function of modified degenerate Daehee numbers

$$\begin{aligned}
 \mathcal{F}^{(N)} &= \frac{d^N}{dt^N} \left(\log \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right) \right) \\
 &= \frac{d^N}{dt^N} \left(\frac{\lambda \log \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right)}{t \log(1 + \lambda)} \frac{t \log(1 + \lambda)}{\lambda} \right) \\
 &= \frac{d^N}{dt^N} \left(\sum_{m=0}^{\infty} \frac{\log(1 + \lambda)}{\lambda} \mathfrak{D}_{m,\lambda} \frac{t^{m+1}}{m!} \right) \\
 &= \frac{d^N}{dt^N} \left(\sum_{m=0}^{\infty} \frac{m \log(1 + \lambda)}{\lambda} \mathfrak{D}_{m-1,\lambda} \frac{t^m}{m!} \right) \\
 &= \sum_{m=0}^{\infty} \frac{(m + N) \log(1 + \lambda)}{\lambda} \mathfrak{D}_{m+N-1,\lambda} \frac{t^m}{m!}.
 \end{aligned} \tag{17}$$

Comparing the coefficients of (16) and (17) gives

$$\frac{(m + N) \log(1 + \lambda)}{\lambda} \mathfrak{D}_{m+N-1,\lambda} = (-1)^{N-1} (N - 1)! \sum_{n=0}^m (-1)^n N^n S_1(m, n) \left(\frac{\log(1 + \lambda)}{\lambda} \right)^{N+m}. \tag{18}$$

Therefore, by (18), we obtain the following theorem.

Theorem 2.1. For $N \in \mathbb{N}$ and $m \geq 0$, we have

$$\mathfrak{D}_{m+N-1,\lambda} = \frac{(-1)^{N-1} (N - 1)!}{m + N} \left(\frac{\log(1 + \lambda)}{\lambda} \right)^{N+m-1} \sum_{n=0}^m (-1)^n N^n S_1(m, n).$$

On the other hand, we note that

$$\begin{aligned}
 \mathcal{F}^n &= \left(\log \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right) \right)^n \\
 &= \left(\frac{\lambda \log \left(1 + \frac{t}{\lambda} \log(1 + \lambda) \right)}{t \log(1 + \lambda)} \right)^n \left(\frac{t \log(1 + \lambda)}{\lambda} \right)^n \\
 &= \left(\sum_{l=0}^{\infty} \mathfrak{D}_{l,\lambda}^{(n)} \frac{t^l}{l!} \right) \left(\frac{\log(1 + \lambda)}{\lambda} \right)^n t^n \\
 &= \sum_{l=0}^{\infty} \left(\frac{\log(1 + \lambda)}{\lambda} \right)^n \mathfrak{D}_{l,\lambda}^{(n)} (l + n)_n \frac{t^{l+n}}{(l + n)!}.
 \end{aligned} \tag{19}$$

Thus by (19), it follows that

$$\begin{aligned}
 e^{-N\mathcal{F}} &= \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} \mathcal{F}^n \\
 &= \sum_{n=0}^{\infty} (-1)^n N^n \frac{1}{n!} \sum_{l=0}^{\infty} \left(\frac{\log(1+\lambda)}{\lambda} \right)^n \mathfrak{D}_{l,\lambda}^{(n)} (l+n)_n \frac{t^{l+n}}{(l+n)!} \\
 &= \sum_{m=0}^{\infty} \left[\sum_{n=0}^m (-1)^n N^n \binom{m}{n} \left(\frac{\log(1+\lambda)}{\lambda} \right)^n \mathfrak{D}_{m-n,\lambda}^{(n)} \right] \frac{t^m}{m!}.
 \end{aligned} \tag{20}$$

From (14) and (20), we derive

$$\mathcal{F}^{(N)} = (-1)^{N-1} (N-1)! \sum_{m=0}^{\infty} \left[\sum_{n=0}^m (-1)^n N^n \binom{m}{n} \left(\frac{\log(1+\lambda)}{\lambda} \right)^n \mathfrak{D}_{m-n,\lambda}^{(n)} \right] \frac{t^m}{m!}. \tag{21}$$

Therefore, by(17) and (21), we observe the following theorem.

Theorem 2.2. *For $N \in \mathbb{N}$ and $m \geq 0$, we have*

$$\mathfrak{D}_{m+N-1,\lambda} = \frac{(-1)^N (N-1)!}{m+N} \sum_{n=0}^m \binom{m}{n} (-1)^n N^n \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+n-1} \mathfrak{D}_{m-n,\lambda}^{(n)}.$$

3. MODIFIED DEGENERATE DAEHEE POLYNOMIALS ASSOCIATED TO DIFFERENTIAL EQUATIONS

In this section, we consider the modified degenerate Daehee polynomials $\mathfrak{D}_{n,\lambda}(x)$ by the generating function

$$\frac{\lambda \log \left(1 + \frac{t}{\lambda} \log(1+\lambda) \right)}{t \log(1+\lambda)} \left(1 + \frac{t}{\lambda} \log(1+\lambda) \right)^x = \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda}(x) \frac{t^n}{n!}. \tag{22}$$

When $x = 0$, we have the modified degenerate Daehee numbers i.e, $\mathfrak{D}_{n,\lambda} = \mathfrak{D}_{n,\lambda}(0)$.

From (22), we have the following

$$\begin{aligned}
 \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda}(x) \frac{t^n}{n!} &= \left(\sum_{m=0}^{\infty} \mathfrak{D}_{m,\lambda} \frac{t^m}{m!} \right) \left(\sum_{l=0}^{\infty} (x)_l \left(\frac{\log(1+\lambda)}{\lambda} \right)^l \frac{t^l}{l!} \right) \\
 &= \sum_{n=0}^{\infty} \left[\sum_{m=0}^n (x)_{n-m} \left(\frac{\log(1+\lambda)}{\lambda} \right)^{n-m} \mathfrak{D}_{m,\lambda}(x) \right] \frac{t^n}{n!}.
 \end{aligned} \tag{23}$$

Thus by (23), we have

$$\begin{aligned}
 \mathfrak{D}_{n,\lambda}(x) &= \sum_{m=0}^n (x)_{n-m} \left(\frac{\log(1+\lambda)}{\lambda} \right)^{n-m} \mathfrak{D}_{m,\lambda}(x) \\
 &= \sum_{m=0}^n (x)_m \left(\frac{\log(1+\lambda)}{\lambda} \right)^m \mathfrak{D}_{n-m,\lambda}(x).
 \end{aligned} \tag{24}$$

Using the notation in (10) gives

$$e^{\mathcal{F}} - 1 = \frac{t \log(1+\lambda)}{\lambda}. \tag{25}$$

Accordingly, (22) can be rewritten as follows

$$\frac{\mathcal{F}}{e^{\mathcal{F}} - 1} e^{\mathcal{F}x} = \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda}(x) \frac{t^n}{n!}. \quad (26)$$

Thus by using the generating function of Bernoulli polynomials in (1), we have

$$\begin{aligned} \frac{\mathcal{F}}{e^{\mathcal{F}} - 1} e^{\mathcal{F}x} &= \sum_{m=0}^{\infty} B_m(x) \frac{\mathcal{F}^m}{m!} \\ &= \sum_{m=0}^{\infty} B_m(x) \sum_{n=m}^{\infty} \left(\frac{\log(1+\lambda)}{\lambda} \right)^n S_1(n, m) \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left[\sum_{m=0}^n \left(\frac{\log(1+\lambda)}{\lambda} \right)^m S_1(n, m) B_m(x) \right] \frac{t^n}{n!}. \end{aligned} \quad (27)$$

Consequently, from (26) and (27), it follows that

$$\mathfrak{D}_{n,\lambda}(x) = \sum_{m=0}^n \left(\frac{\log(1+\lambda)}{\lambda} \right)^m S_1(n, m) B_m(x). \quad (28)$$

Also, replacing t by $\frac{\lambda}{\log(1+\lambda)}(e^t - 1)$ in (22) derives

$$B_n(x) = \sum_{m=0}^n \left(\frac{\log(1+\lambda)}{\lambda} \right)^m S_2(n, m) \mathfrak{D}_{m,\lambda}(x). \quad (29)$$

Let

$$\mathcal{G} = \mathcal{G}(t, x) = \mathcal{F}(t) e^{\mathcal{F}(t)x}. \quad (30)$$

Then by (11) and (30), we get

$$\begin{aligned} \mathcal{G}' &= \frac{d}{dt} \mathcal{G}(t, x) = \mathcal{F}' e^{\mathcal{F}x} + \mathcal{F} e^{\mathcal{F}x} \mathcal{F}' x \\ &= \frac{\log(1+\lambda)}{\lambda} e^{\mathcal{F}(x-1)} (1 + x\mathcal{F}), \end{aligned} \quad (31)$$

$$\mathcal{G}^{(2)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^2 e^{\mathcal{F}(x-2)} \{ (x-1) + x + (x)_2 \mathcal{F} \} \quad (32)$$

and

$$\mathcal{G}^{(3)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^3 e^{\mathcal{F}(x-3)} \{ (x-2)(x-1) + (x-2)x + (x-1)x + (x)_3 \mathcal{F} \}. \quad (33)$$

Continuing this process, we are led to put

$$\mathcal{G}^{(N)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^N e^{\mathcal{F}(x-N)} \{ a_N(x) + (x)_N \mathcal{F} \}, \quad (34)$$

for $N = 1, 2, 3, \dots$.

From (11) and (34), we yield

$$\begin{aligned}
 \mathcal{G}^{(N+1)} &= \frac{d}{dt} \mathcal{G}^{(N)} \\
 &= \left(\frac{\log(1+\lambda)}{\lambda} \right)^N e^{\mathcal{F}(x-N)} \mathcal{F}' \{a_N(x) + (x)_N \mathcal{F}\} \\
 &\quad + \left(\frac{\log(1+\lambda)}{\lambda} \right)^N e^{\mathcal{F}(x-N)} (x)_N \mathcal{F}' \\
 &= \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+1} e^{\mathcal{F}(x-(N+1))} \{(x-N)a_N(x) + (x)_N + (x)_{N+1} \mathcal{F}\}.
 \end{aligned}
 \tag{35}$$

Furthermore, by replacing N by $N + 1$ in (34), we get

$$\mathcal{G}^{(N+1)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+1} e^{\mathcal{F}(x-(N+1))} \{a_{N+1}(x) + (x)_{N+1} \mathcal{F}\}.
 \tag{36}$$

Now comparing (35) and (36) result in

$$a_{N+1}(x) = (x-N)a_N(x) + (x)_N,
 \tag{37}$$

where $N = 1, 2, 3, \dots$.

From (31), (32), (33) and (34), we have

$$\begin{aligned}
 a_1(x) &= 1, & a_2(x) &= (x-1) + x = -1, \\
 a_3(x) &= (x-2)(x-1) + (x-2)x + (x-1)x, \\
 &\dots
 \end{aligned}
 \tag{38}$$

This implies that

$$a_N(x) = \sum_{j=0}^{N-1} \frac{(x)_N}{x-j}.
 \tag{39}$$

By (34) and (37), we arrive at

$$\mathcal{G}^{(N)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^N \left(\sum_{j=0}^{N-1} \frac{(x)_N}{x-j} e^{\mathcal{F}(x-N)} + (x)_N \mathcal{F} e^{\mathcal{F}(x-N)} \right).
 \tag{40}$$

Therefore, we obtain the following theorem.

Theorem 3.1. For $N \in \mathbb{N}$, let we consider the following family of differential equations

$$\mathcal{G}^{(N)} = \left(\frac{\log(1+\lambda)}{\lambda} \right)^N (x)_N \left(1 + \frac{t}{\lambda} \log(1+\lambda) \right)^{-N} \left(\frac{1}{\mathcal{F}} \sum_{j=1}^{N-1} \frac{1}{x-j} + 1 \right) \mathcal{G}$$

have a solution

$$\mathcal{G} = \log \left(1 + \frac{t}{\lambda} \log(1+\lambda) \right) \left(1 + \frac{t}{\lambda} \log(1+\lambda) \right)^x,$$

where \mathcal{F} is in (10).

Now we acquire that

$$\begin{aligned}
 \mathcal{G}^{(N)} &= \frac{d^N}{dt^N} \left(\frac{\mathcal{F}e^{x\mathcal{F}}}{\frac{t}{\lambda} \log(1+\lambda)} \frac{t}{\lambda} \log(1+\lambda) \right) \\
 &= \frac{d^N}{dt^N} \left(\sum_{m=0}^{\infty} \mathfrak{D}_{m,\lambda}(x) \frac{t^m}{m!} \frac{t}{\lambda} \log(1+\lambda) \right) \\
 &= \frac{\log(1+\lambda)}{\lambda} \frac{d^N}{dt^N} \left(\sum_{m=0}^{\infty} m \mathfrak{D}_{m-1,\lambda}(x) \frac{t^m}{m!} \right) \\
 &= \frac{\log(1+\lambda)}{\lambda} \sum_{m=0}^{\infty} (m+N) \mathfrak{D}_{m+N-1,\lambda}(x) \frac{t^m}{m!}.
 \end{aligned} \tag{41}$$

For the right hand side of (40), we observe the followings

$$\begin{aligned}
 e^{\mathcal{F}(x-N)} &= \sum_{n=0}^{\infty} \frac{\mathcal{F}^n}{n!} (x-N)^n \\
 &= \sum_{n=0}^{\infty} (x-N)^n \sum_{m=n}^{\infty} S_1(m,n) \frac{t^m}{m!} \left(\frac{\log(1+\lambda)}{\lambda} \right)^m \\
 &= \sum_{m=0}^{\infty} \left[\sum_{n=0}^m (x-N)^n \left(\frac{\log(1+\lambda)}{\lambda} \right)^m S_1(m,n) \right] \frac{t^m}{m!}
 \end{aligned} \tag{42}$$

and

$$\begin{aligned}
 \mathcal{F}e^{\mathcal{F}(x-N)} &= \sum_{m=0}^{\infty} \mathfrak{D}_{m,\lambda}(x-N) \frac{t^{m+1}}{m!} \frac{\log(1+\lambda)}{\lambda} \\
 &= \sum_{m=0}^{\infty} \frac{m \log(1+\lambda)}{\lambda} \mathfrak{D}_{m-1,\lambda}(x-N) \frac{t^m}{m!}.
 \end{aligned} \tag{43}$$

Applying (42) and (43) to (41) gives

$$\begin{aligned}
 &\frac{\log(1+\lambda)}{\lambda} (m+N) \mathfrak{D}_{m+N-1,\lambda}(x) \\
 &= \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+m} \sum_{j=0}^{N-1} \frac{(x)_N}{x-j} \sum_{n=0}^m (x-N)^n S_1(m,n) \\
 &\quad + (x)_N m \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+1} \mathfrak{D}_{m-1,\lambda}(x-N).
 \end{aligned} \tag{44}$$

As a result of (44), we have the following theorem.

Theorem 3.2. For $N \in \mathbb{N}$ and $m \geq 0$, we have

$$\begin{aligned}
 &\mathfrak{D}_{m+N-1,\lambda}(x) \\
 &= \frac{1}{m+N} \left(\frac{\log(1+\lambda)}{\lambda} \right)^{N+m-1} \sum_{j=0}^{N-1} \frac{(x)_N}{x-j} \sum_{n=0}^m (x-N)^n S_1(m,n) \\
 &\quad + \frac{m(x)_N}{m+N} \left(\frac{\log(1+\lambda)}{\lambda} \right)^N \mathfrak{D}_{m-1,\lambda}(x-N).
 \end{aligned}$$

Specially, if we take $x = 0$, we have just the same result as that of Theorem 2.1.

Now, we consider the higher order modified degenerate Daehee polynomials $\mathfrak{D}_{n,\lambda}^{(r)}(x)$ give by the generating function to be, for $r \in \mathbb{N}$,

$$\left(\frac{\lambda \log(1 + \frac{t}{\lambda} \log(1 + \lambda))}{t \log(1 + \lambda)}\right)^r \left(1 + \frac{t}{\lambda} \log(1 + \lambda)\right)^x = \sum_{n=0}^{\infty} \mathfrak{D}_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}. \tag{45}$$

When $x = 0$, $\mathfrak{D}_{n,\lambda}^{(r)} = \mathfrak{D}_{n,\lambda}^{(r)}(0)$ are the higher order modified degenerate Daehee numbers.

On the other hand, we observe

$$e^{(\mathcal{F}-N)x} = \sum_{n=0}^{\infty} \frac{(x - N)^n}{n!} \mathcal{F}^n. \tag{46}$$

By applying (19) to (46), we have

$$\begin{aligned} e^{(\mathcal{F}-N)x} &= \sum_{n=0}^{\infty} \frac{(x - N)^n}{n!} \sum_{l=0}^{\infty} \left(\frac{\log(1 + \lambda)}{\lambda}\right)^n \mathfrak{D}_{l,\lambda}^{(n)}(l + n)_n \frac{t^{l+n}}{(l + n)!} \\ &= \sum_{m=0}^{\infty} \left[\sum_{n=0}^m \binom{m}{n} \left(\frac{(x - N) \log(1 + \lambda)}{\lambda}\right)^n \mathfrak{D}_{m-n,\lambda}^{(n)} \right] \frac{t^m}{m!}. \end{aligned} \tag{47}$$

Therefore, applying (43) and (47) to (40) results in

$$\begin{aligned} &\frac{\log(1 + \lambda)}{\lambda} (m + N) \mathfrak{D}_{m+N-1,\lambda}(x) \\ &= \left(\frac{\log(1 + \lambda)}{\lambda}\right)^{N+m} \sum_{j=0}^{N-1} \frac{(x)_N}{x - j} \sum_{n=0}^m (x - N)^n \binom{m}{n} \mathfrak{D}_{m-N,\lambda}^{(n)} \\ &\quad + (x)_N m \left(\frac{\log(1 + \lambda)}{\lambda}\right)^{N+1} \mathfrak{D}_{m-1,\lambda}^{(n)}(x - N). \end{aligned} \tag{48}$$

Finally, we have the following theorem.

Theorem 3.3. For $N \in \mathbb{N}$ and $m \geq 0$, we have

$$\begin{aligned} \mathfrak{D}_{m+N-1,\lambda}(x) &= \frac{1}{m + N} \left\{ \left(\frac{\log(1 + \lambda)}{\lambda}\right)^{N+m-1} \sum_{j=0}^{N-1} \frac{(x)_N}{x - j} \sum_{n=0}^m (x - N)^n \binom{m}{n} \mathfrak{D}_{m-N,\lambda}^{(n)} \right. \\ &\quad \left. + (x)_N m \left(\frac{\log(1 + \lambda)}{\lambda}\right)^N \mathfrak{D}_{m-1,\lambda}^{(n)}(x - N) \right\}. \end{aligned}$$

Letting $x = 0$ in the above theorem gives us the same result in Theorem 2.2.

REFERENCES

[1] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51-88.
 [2] L. Carlitz, *A degenerate Staudt-Clausen theorem*, Arch. Math. (Basel) **7** (1956), 28-33.
 [3] D. V. Dolgy, T. Kim, H.-I. Kwon, J. J. Seo, *On the modified degenerate Bernoulli polynomials*, Adv. Stud. Contemp. Math. **26** (2016), no. 1, 1-9.
 [4] B. S. El-Desouky, A. Mustafa, *New results on higher-order Daehee and Bernoulli numbers and polynomials*, Adv. Difference Equ., (2016), **2016**:32, 21 pages.
 [5] D. S. Kim, T. Kim, *Daehee numbers and polynomials*, Appl. Math. Sci. (Ruse), **7** (2013), no.117-120, 5969-5976.

- [6] ———, *Identities arising from higher-order Daehee polynomial bases*, Open Math., **13** (2015), 196-208.
- [7] ———, *Some identities for Bernoulli numbers of the second kind arising from a non-linear differential equation*, Bull. Korean Math. Soc., **52** (2015), no. 6, 2001-2010.
- [8] T. Kim, *Identities involving Frobenius-Euler polynomials arising from non-linear differential equations*, J. Number Theory, **132** (2012), no. 12, 2854-2865.
- [9] T. Kim, D. V. Dolgy, D. S. Kim, J. J. Seo, *Differential equations for Changhee polynomials and their applications*, J. Nonlinear Sci. Appl., **9** (2016), no. 5, 2857-2864.
- [10] T. Kim, D. S. Kim, *A note on nonlinear Changhee differential equations*, Russ. J. Math. Phys. **23** (2016), no. 1, 88-92.
- [11] ———, *Some identities of degenerate Daehee numbers arising from certain differential equations*, J. Nonlinear Sci. Appl., **10** (2017), no. 2, 744-741.
- [12] H. I. Kwon, T. Kim, J. J. Seo, *A note on Daehee numbers arising from differential equations*, Global Journal of Pure and Applied Mathematics. **12**(2016), no. 3, 2349-2354.
- [13] ———, *Modified degenerate Euler polynomials*, Adv. Stud. Contemp. Math. **26** (2016), no. 1, 203-209.
- [14] J. G. Lee, L.-C. Jang *On modified degenerate Carlitz q -Bernoulli numbers and polynomials*, Adv. Difference Equ., (2017), **2017**:22, 9 pages.
- [15] J. G. Lee, J. Kwon *The modified degenerate q -Bernoulli polynomials arising from p -adic invariant integral on \mathbb{Z}_p* , Adv. Difference Equ., (2017), **2017**:29, 9 pages.
- [16] D. Lim, *Degenerate, partially degenerate and totally degenerate Daehee numbers and polynomials*, Adv. Difference Equ., (2015), **2015**:287, 14 pages.
- [17] ———, *Differential equations for Daehee polynomials and their applications*, J. Nonlinear Sci. Appl. **10** (2017) no. 4, 1303-1315.
- [18] G. D. Liu, *Degenerate Bernoulli numbers and polynomials of higher order*, J. Math. (Wuhan) **25** (2015), no. 3, 283-288.
- [19] E.-J. Moon, J.-W. Park, S.-H. Rim, *A note on the generalized q -Daehee numbers of higher order*, Proc. Jangjeon Math. Soc. **17** (2014), no. 4, 557-565.
- [20] J.-J. Seo, S. H. Rim, T. Kim, S. H. Lee, *Sums products of generalized Daehee numbers*, Proc. Jangjeon Math. Soc. **17** (2014), no. 1, 1-9.
- [21] Y. Simsek, *Apostol type Daehee numbers and polynomials*, Adv. Stud. Contemp. Math. (Kyungshang) **26** (2016), no. 3, 555-566.

(D. Lim) DEPARTMENT OF MATHEMATICS, SUNGKYUNKWAN UNIVERSITY, SUWON, 16419, REPUBLIC OF KOREA
E-mail address: dgrim84@skku.edu